## **RESOLUTION No. 17-86**

A RESOLUTION OF THE MAYOR AND THE CITY COUNCIL OF THE CITY OF DORAL, FLORIDA, PURSUANT TO SECTION 2-321 OF THE CODE OF ORDINANCES, WAIVING THE COMPETITIVE BID PROCESS FOR THE PURCHASE OF GYM EQUIPMENT FROM GYM SOURCE; APPROVING THE PURCHASE OF SAME IN AN AMOUNT NOT TO EXCEED \$114,606.06; AUTHORIZING THE CITY MANAGER TO ENTER INTO AN AGREEMENT AND TO EXPEND BUDGETED FUNDS IN FURTHERANCE HEREOF; PROVIDING FOR IMPLEMENTATION; AND PROVIDING FOR AN EFFECTIVE DATE

WHEREAS, the Police Department seeks to purchase gym equipment from Gym Source; and

**WHEREAS**, an Invitation to Bid #2017-03 (the "ITB") was issued on March 13, 2017 for the purpose of purchasing gym equipment for the Police Department. As a result of the advertisement on the City's Website and Demandstar, one (1) submittal was received and rejected for not providing all the equipment on the ITB 2017-03; and

WHEREAS, Gym Source has provided the police department a new quote with their name brand equipment, Cybex which meets the specs on ITB 2017-03 in the amount not to exceed \$114,606.06; and

WHEREAS, Gym Source has equipped the following departments (reference letters attached): North Miami Beach Police Department, West Palm Beach Fire Department, Sunny Isles Parks and Recreation and North Lauderdale Fire Department and pricing was based on the New York State Contract #PC65497; and

WHEREAS, Section 2-321 of the City Code of Ordinances provides that the City Council may, by majority vote, waive the competitive bidding procedures outlined in the City's Procurement Ordinance, upon the recommendation of the City Manager that it is

in the best interest to do so, to obtain goods and services which cannot be acquired through the normal purchasing process due to insufficient time, the nature of the goods or services or other factors; and

WHEREAS, because of the nature of the equipment and prior failed attempt to competitively procure same, the City Manager has recommended that it is in the City's best interest to waive the competitive bidding procedures and purchase the equipment as recommended by staff; and

**WHEREAS**, Staff has recommended that the City Council waive the competitive bidding process and authorize the City Manager to negotiate and enter into an agreement with Gym Source for the purchase of the gym equipment in an amount not to exceed \$114,606.06.

## NOW, THEREFORE, BE IT RESOLVED BY THE MAYOR AND CITY COUNCIL OF THE CITY OF DORAL AS FOLLOWS:

<u>Section 1.</u> Recitals. The foregoing recitals are confirmed, adopted, and incorporated herein and made a part hereof by this reference.

<u>Section 2.</u> <u>Waiver.</u> Pursuant to the Section 2-231 of the City Code of Ordinances, and upon the recommendation of the City Manager, the City's competitive bidding requirements are hereby waived in favor of Gym Source for the purchase of exercise equipment for the police Station.

Section 3. Approval. The purchase of the gym equipment for the Police Station from Gym Source, pursuant to the quote attached hereto as Exhibit "A", which is incorporated herein and made a part hereof by this reference, in an amount not to exceed

Res. No. 17-86 Page **3** of **4** 

\$114,606.06, is hereby approved. This purchase is funded in account 001.60005.500640 Capital Outlay.

Section 4. Authorization. The City Manager is hereby authorized to enter into an agreement and other contractual documents, subject to approval as to form and legal sufficiency by the City Attorney, as may be necessary to procure the equipment under the New York State contract with Gym Source, and to expend funds in furtherance thereof in amounts not to exceed \$114,606.06.

<u>Section 5.</u> <u>Implementation.</u> The City Manager and the City Attorney are hereby authorized to take such further action as may be necessary to implement the purpose and provisions of this Resolution.

<u>Section 6.</u> <u>Effective Date.</u> This Resolution shall become effective immediately upon its adoption.

The foregoing Resolution was offered by Councilmember Rodriguez who moved its adoption. The motion was seconded by Councilmember Mariaca and upon being put to a vote, the vote was as follows:

Mayor Juan Carlos Bermudez
Vice Mayor Pete Cabrera
Councilwoman Christi Fraga
Yes
Yes

Councilwoman Claudia Mariaca Yes Councilwoman Ana Maria Rodriguez Yes

PASSED AND ADOPTED this 10 day of May, 2017.

JUAN CARLOS BERMUDEZ, MAYOF

ATTEST:

CONNIE DIAZ, CMC

CITY CLERK

APPROVED AS TO FORM AND LEGAL SUFFIENCY FOR THE USE AND RELIANCE OF THE CITY OF DORAL ONLY:

WEISS, SEROTÁ, HELFMAN, COLE & BIERMAN, P.L.

**CITY ATTORNEY** 

## **EXHIBIT "A"**



**QUOTE:** 1945301

SalespersonStoreQuote DtACCOUNT IDCUSTOMER NAMEJason Mattson02004/13/201720-501973CITY OF DORAL POLICE DEPT

Bill To

CITY OF DORAL POLICE DEPT

6100 NE 99TH AVE DORAL FL 33178 Ship To

04/18/2017

Page 1 of 6

CITY OF DORAL POLICE DEPT

6100 NE 99TH AVE

DORAL FL 33178

LN	Product	Description	List	Price	Qty	Total
1	TRU-HIT-ALP/BASE	ALPINE COMMERCIAL INCL TRAINER TI1000	7499.00	6,354.86	3	19,064.58
2	CYBEX-625A/DA-EMB	ARC-UPPER/LOWER CORD W/EMB SCREEN PLAT	9895.00	7,328.10	2	14,656.20
3	CYBEX-625C/EMB	UPRIGHT-BIKE W/EMBEDDED SCREEN PLAT SP	5245.00	4,052.10	2	8,104.20
4	STG-SC3	INDOOR CYCLE W/ECOSCRN, POWER METER	2699.00	1,850.00	1	1,850.00
5	BH-LK500RW	ROWER LK500RW W/LCD DISP LIGHT COM	1599.00	950.00	1	950.00
6	STAIR-G8/BASE	GAUNTLET BASE (MUST INCLUDE CONSOLE)	7255.00	6,756.00	1	6,756.00
7	STAIR-G8/CON-EMB	EMBEDDED TV FOR GAUNTLET (NEED BASE)	2400.00	.00	1	.00
8	TUFF-PXLS-7930	POWER RACK	3499.00	2,975.00	2	5,950.00
9	CYB/FW-AFD	16001-FLAT/INCLINE/DECLINE BENCH	895.00	767.25	4	3,069.00
10	CYB/FW-3DRS	16255-THREE TIER DUMBBELL RACK	1445.00	1,297.35	2	2,594.70
11	DB@TROY/TSDU-5-50	5-50 SET URETHANE 12 SIDED PROBELL	3950.00	2,765.00	2	5,530.00
		* kits comprised of *				
	DB-TROY/TSDU-005	5LB URETHANE 12 SIDED PROBELL			4	
	DB-TROY/TSDU-010	10LB URETHANE 12 SIDED PROBELL			4	
	DB-TROY/TSDU-015	15LB URETHANE 12 SIDED PROBELL			4	
	DB-TROY/TSDU-020	20LB URETHANE 12 SIDED PROBELL			4	
	DB-TROY/TSDU-025	25LB URETHANE 12 SIDED PROBELL			4	
	DB-TROY/TSDU-030	30LB URETHANE 12 SIDED PROBELL			4	
	DB-TROY/TSDU-035	35LB URETHANE 12 SIDED PROBELL			4	
	DB-TROY/TSDU-040	40LB URETHANE 12 SIDED PROBELL			4	
	DB-TROY/TSDU-045	45LB URETHANE 12 SIDED PROBELL			4	
	DB-TROY/TSDU-050	50LB URETHANE 12 SIDED PROBELL			4	
12	DB@TROY/TSDU-55-10	55-100 SET URETHANE 12 SIDED PROBELL	7750.00	5,425.00	1	5,425.00
		* kits comprised of *				
				· · · · · · · · · · · · · · · · · · ·		- <del></del>

Page 1 of 6 Gym Source USA LLC Quote # 1945301

GYM SOURCE FLORIDA SERVICE 4200 N 29TH AVE HOLLYWOOD FL 33020 Phone: 9549202885 FAX: 9549202860





**QUOTE:** 1945301

SalespersonStoreQuote DtACCOUNT IDCUSTOMER NAMEJason Mattson02004/13/201720-501973CITY OF DORAL POLICE DEPT

Bill To

CITY OF DORAL POLICE DEPT

6100 NE 99TH AVE DORAL FL 33178 Ship To

04/18/2017

Page 2 of 6

CITY OF DORAL POLICE DEPT

6100 NE 99TH AVE

DORAL FL 33178

LN	Product	Description	List	Price	Qty	Total
	DB-TROY/TSDU-055	55LB URETHANE 12 SIDED PROBELL			2	
	DB-TROY/TSDU-060	60LB URETHANE 12 SIDED PROBELL			2	
	DB-TROY/TSDU-065	65LB URETHANE 12 SIDED PROBELL			2	
	DB-TROY/TSDU-070	70LB URETHANE 12 SIDED PROBELL			2	
	DB-TROY/TSDU-075	75LB URETHANE 12 SIDED PROBELL			2	
	DB-TROY/TSDU-080	80LB URETHANE 12 SIDED PROBELL			2	
	DB-TROY/TSDU-085	85LB URETHANE 12 SIDED PROBELL			2	
	DB-TROY/TSDU-090	90LB URETHANE 12 SIDED PROBELL			2	
	DB-TROY/TSDU-095	95LB URETHANE 12 SIDED PROBELL			2	
	DB-TROY/TSDU-100	100LB URETHANE 12 SIDED PROBELL			2	
13	CYB/FW-BR	16260-BARBELL RACK	895.00	813.75	1	813.75
14	NS-SP/YORK	YORK FAT BAR 7' ITEM #2988	339.00	339.00	2	678.00
15	NS-SP/YORK	YORK 35LB CURL BAR ITEM #2980	85.00	85.00	2	170.00
16	COLLARS-OLY SPRING	OLY SPRING COLLARS/EA.OC-06	6.30	3.95	10	39.50
17	FBB@TROY/U20-110	20-110 TSB 12 SIDED U BARBELL KIT	3958.00	2,770.00	1	2,770.00
		* kits comprised of *				
	FBB-TROY/TSB-U020	20LB FIXED 12 SIDED BARBELL			1	
	FBB-TROY/TSB-U030	30LB FIXED 12 SIDED BARBELL			1	
	FBB-TROY/TSB-U040	40LB FIXED 12 SIDED BARBELL			1	
	FBB-TROY/TSB-U050	50LB FIXED 12 SIDED BARBELL			1	
	FBB-TROY/TSB-U060	60LB FIXED 12 SIDED BARBELL			1	
	FBB-TROY/TSB-U070	70LB FIXED 12 SIDED BARBELL			1	
	FBB-TROY/TSB-U080	80LB FIXED 12 SIDED BARBELL			1	
	FBB-TROY/TSB-U090	90LB FIXED 12 SIDED BARBELL			1	

Page 2 of 6 Gym Source USA LLC Quote # 1945301

GYM SOURCE FLORIDA SERVICE

4200 N 29TH AVE HOLLYWOOD FL 33020

Phone: 9549202885 FAX: 9549202860



**QUOTE:** 1945301

 Salesperson
 Store
 Quote Dt
 ACCOUNT ID

 Jason Mattson
 020
 04/13/2017
 20-501973

ACCOUNT ID CUSTOMER NAME

CITY OF DORAL POLICE DEPT

04/18/2017

Page 3 of 6

Bill To

CITY OF DORAL POLICE DEPT

6100 NE 99TH AVE DORAL FL 33178 Ship To

CITY OF DORAL POLICE DEPT

6100 NE 99TH AVE

DORAL FL 33178

LN	Product	Description	List	Price	Qty	Total
	FBB-TROY/TSB-U100	100LB FIXED 12 SIDED BARBELL			1	
	FBB-TROY/TSB-U110	110LB FIXED 12 SIDED BARBELL			1	
18	HAM-MB/CP	RACK-MACHINE BAR CLUB PACK(15PCS)	1296.00	907.00	1	907.00
		* kits comprised of *				
	BARS-H-MCN/R	DOUBLE ROW HANDLE/URETHANE GRIPS			1	
	BARS-H-MDSH/R	STIRRUP HANDLE/URETHANE GRIPS			2	
	BARS-H-MMP/R	MULTI-PURPOSE V BAR/URETHANE GRIPS			1	
	BARS-H-MRC/28R	EZ CURL/URETHANE GRIPS			1	
	BARS-H-MRL/36R	LAT BAR-REVOLVING/URETHANE GRIPS			1	
	BARS-H-MRL/48R	LAT BAR-REVOLVING/URETHANE GRIPS			1	
	BARS-H-MRM/R	MULTI EXERCISE BAR/URETHANE GRIPS			1	
	BARS-H-MRP/24R	PRO LAT BAR/URETHANE GRIPS			1	
	BARS-H-MRP/34R	PRO LAT BAR-WIDE/URETHANE GRIPS			1	
	BARS-H-MRS/20R	STRAIGHT REVOLVING BAR/URETHANE GRIPS			1	
	BARS-H-MTE/R	TRICEP PULL EXT.BAR/URETHANE GRIPS			1	
	BARS-H-MTP/R	TRICEP PRESS DOWN/URETHANE GRIPS			1	
	BARS-H-MTR	TRICEP ROPE			1	
	BARS-H-MTSR	TRICEP SINGLE ROPE			1	
	HAM-V/MBR	RACK-VERTICAL MACHINE BAR RACK			1	
19	PL-OLY-HOG-R45	45LB HAMPTON RUBBER GRIP PLATE	117.00	85.00	20	1,700.00
20	PL-OLY-HOG-R35	35LB HAMPTON RUBBER GRIP PLATE	91.00	66.00	10	660.00
21	PL-OLY-HOG-R25	25LB HAMPTON RUBBER GRIP PLATE	65.00	48.00	10	480.00
22	PL-OLY-HOG-R10	10LB HAMPTON RUBBER GRIP PLATE	26.00	19.00	20	380.00
23	PL-OLY-HOG-R05	5LB HAMPTON RUBBER GRIP PLATE	13.00	10.00	20	200.00

Page 3 of 6 Gym Source USA LLC Quote # 1945301

GYM SOURCE FLORIDA SERVICE 4200 N 29TH AVE HOLLYWOOD FL 33020

Phone: 9549202885 FAX: 9549202860



**QUOTE:** 1945301

Salesperson Store Quote Dt ACCOUNT ID

Jason Mattson 020 04/13/2017 20-501973

04/18/2017 Page 4 of 6

CUSTOMER NAME
CITY OF DORAL POLICE DEPT

Bill To

CITY OF DORAL POLICE DEPT

6100 NE 99TH AVE DORAL FL 33178 Ship To

CITY OF DORAL POLICE DEPT

6100 NE 99TH AVE

DORAL FL 33178

LN	Product	Description	List	Price	Qty	Total
24	PL-OLY-HOG-R02.5	2.5LB HAMPTON RUBBER GRIP PLATE	6.50	5.50	10	55.00
25	CYB/JG-CCOVER/5	17122-CCOVER W/4 STATION&FS (NEED QUAD)	5595.00	4,818.00	1	4,818.00
26	CYB/JG-QUAD TOWER	17001-CENTER TOWER (REQ.2/HVY & 2/LT)	1695.00	1,403.60	1	1,403.60
27	CYB/JG-LAT PULL	17073-LAT PULLDOWN TRADITIONAL	2145.00	1,755.60	1	1,755.60
28	CYB/JG-ROW	17032-LOW ROW	2145.00	1,755.60	1	1,755.60
29	CYB/JG-TRI PUSH	17060-TRICEPS PUSHDOWN	1345.00	1,104.40	1	1,104.40
30	CYB/PRST-LC/SRL	21141-PRONE LEG CURL W/SRL STD	4625.00	3,779.60	1	3,779.60
31	CYB/PRST-LES/SRL	21051-LEG EXTENSION W/SRL STD	4725.00	3,911.60	1	3,911.60
32	CYB/VR1-AA	13180-HIP AB/AD	4275.00	3,700.40	1	3,700.40
33	CYB/PL-LP	16110-LEG PRESS PLATE LOADED	4445.00	3,603.60	1	3,603.60
34	AB-BENCH/X2	ABS CO BENCH- DUAL PIVOT W/WT HORNS	1499.00	1,199.00	1	1,199.00
35	KETTLEBELL-USA/05G	KETTLEBELL-05LB VTX KETTLEBELL G2	9.95	7.10	2	14.20
36	KETTLEBELL-USA/10G	KETTLEBELL-10LB VTX KETTLEBELL G2	21.00	14.20	2	28.40
37	KETTLEBELL-USA/15G	KETTLEBELL-15LB VTX KETTLEBELL G2	29.85	21.30	2	42.60
38	KETTLEBELL-USA/25G	KETTLEBELL-25LB VTX KETTLEBELL G2	49.75	35.50	2	71.00
39	UF-SUPER BAND/XXL	XXL LIGHT BAND 5-35LBS RED E-2658	14.99	10.70	1	10.70
40	UF-SUPER BAND/XL	X LIGHT BAND 10-60LBS BLK E-2792	19.99	14.30	1	14.30
41	UF-SUPER BAND/L	LIGHT BAND 25-80LBS PURPLE E-2659	28.99	20.70	1	20.70
42	UF-SUPER BAND/M	MEDIUM BAND 50-120LBS GREEN E-2660	34.99	25.70	1	25.70
43	UF-SUPER BAND/H	HEAVY BAND 60-150LBS BLUE E-2661	49.99	35.70	1	35.70
44	UF-SUPER BAND/XH	X-HEAVY BAND 70-175LBS ORANGE E-2793	69.99	49.99	1	49.99
45	UF-PLYOBOX/3IN1	WOOD PLYOBOX 3 IN 1 20/24/30 XM-3202	160.00	110.00	1	110.00
46	SPR-SPEED ROPE	JUMP ROPE-SPRI SPEED ROPE 05-58493	6.98	5.70	5	28.50
47	SPR-TRIPLE MAT/G	SPRI TRIPLE LAYER MAT 24X48X5/8 MAT-TL-G	33.98	27.50	10	275.00

Page 4 of 6 Gym Source USA LLC Quote # 1945301

GYM SOURCE FLORIDA SERVICE

4200 N 29TH AVE HOLLYWOOD FL 33020

Phone: 9549202885 FAX: 9549202860



**QUOTE:** 1945301

SalespersonStoreQuote DtACCOUNT IDCUSTOMER NAMEJason Mattson02004/13/201720-501973CITY OF DORAL POLICE DEPT

Bill To

CITY OF DORAL POLICE DEPT

6100 NE 99TH AVE DORAL FL 33178 Ship To

04/18/2017

Page 5 of 6

CITY OF DORAL POLICE DEPT

6100 NE 99TH AVE

DORAL FL 33178

Product	Description	List	Price	Qty	Total
SPR-XERBALL/4LB	4LB XERBALL MED-4R	36.98	24.99	2	49.98
SPR-XERBALL/8LB	8LB XERBALL MED-8R	57.98	39.99	2	79.98
SPR-XERBALL/15LB	15LB XERBALL MED-15R	87.98	58.75	2	117.50
SPR-XERBALL/25LB	25LB XERBALL MED-25	107.98	79.99	2	159.98
TRX-STRAPS/CLUB4	COMMERCIAL TRX TRXCLUB4	209.95	160.00	1	160.00
TUFF-PXLS-7925	6'X8' OLY PLATFORM FOR 7930 & 7950	1999.00	1,625.00	2	3,250.00
STEP-C/B	COMM.STEP/BLK.RISERS/B-PLAT/B	144.99	93.75	2	187.50
	* kits comprised of *				
STEP-PLATFORM/B	STEP PLATFORM GREY 1107			2	
STEP-RISERS/B	RISER FOR PLATFORM BLACK 1109			8	
OPTI-65	BALL- 65 CM RED XERCISE BALL SXBP65R	32.55	20.00	2	40.00
DEL-INST	ALL FREIGHT/DELIVERY/INSTALLATION INC		.00	1	.00
COLORS	NIGHSTORM BLACK FRAME/ROYAL BLUE PADS		.00	1	.00
	NY STATE CONTRACT PRICING				
	CYBEX CONTRACT #PC65497				
STAIRS	NO STAIRS		.00	1	.00
TIME	DISPATCH TO ASSIGN TIME WINDOW		.00	1	.00
CROSS STREET	indicate here		.00	1	.00
12 PT.CHECK LIST	12 POINT CHECKS COMPLETED		.00	1	.00
	* kits comprised of *				
_1	BOLTS TIGHTENED & SECURE			1	
2	NO RATTLES OR KNOCKS			1	
3	OPERATES W/O RESTRICTION			1	
4	EQUIP.IS SMOOTH;PARTS LUBED			1	
	SPR-XERBALL/4LB SPR-XERBALL/15LB SPR-XERBALL/15LB SPR-XERBALL/25LB TRX-STRAPS/CLUB4 TUFF-PXLS-7925 STEP-C/B STEP-PLATFORM/B STEP-RISERS/B OPTI-65 DEL-INST COLORS  STAIRS TIME CROSS STREET 12 PT.CHECK LIST 123	SPR-XERBALL/4LB SPR-XERBALL/8LB SPR-XERBALL/15LB SPR-XERBALL/15LB SPR-XERBALL/25LB SPR-XERBALL/25LB TRX-STRAPS/CLUB4 TUFF-PXLS-7925 STEP-C/B STEP-PLATFORM/B STEP PLATFORM GREY 1107 STEP-RISERS/B DEL-INST COLORS NIGHSTORM BLACK FRAME/ROYAL BLUE PADS NY STATE CONTRACT PRICING CYBEX CONTRACT #PC65497 STAIRS TIME CROSS STREET 12 PT.CHECK LIST 12 BOLTS TIGHTENED & SECURE NO RATTLES OR KNOCKS OPERATES W/O RESTRICTION	SPR-XERBALL/4LB SPR-XERBALL/8LB SPR-XERBALL/8LB SPR-XERBALL/15LB SPR-XERBALL/15LB SPR-XERBALL/15LB SPR-XERBALL/25LB SPR-SERBALL MED-25 SPR-9LATFORM SPT.98 SPR-YERBALL/25LB SPR-SERBALL MED-4R SPT.98 SPR-XERBALL/25LB SPR-9LBALL MED-4R SPT.98 SPR-XERBALL/25LB SPR-9LBALL MED-4R SPT.98 SPR-XERBALL/25LB SPR-9R SPR-YERBALL/25LB SPR-9R SPR-YERBALL MED-4R SPR-9R SPR-YERBALL/3LB SPR-9R SPR-YERBALL MED-4R SPR-9R SPR-YERBALL MED-4B SPR-9R SPR-9R SPR-YERBALL MED-4B SPR-9R SPR-9R SPR-YERBALL MED-4B SPR-9R SPR-9R SPR-YERBALL MED-4B SPR-9R SPR-9R SPR-9R SPR-YERBALL MED-4B SPR-9R SPR-9R SPR-9R SPR-YERBALL MED-4B SPR-9R SPR-9R SPR-9R SP-9R SPR-9R SP.9R SP.9	SPR-XERBALL/4LB         4LB XERBALL MED-4R         36.98         24.99           SPR-XERBALL/8LB         8LB XERBALL MED-8R         57.98         39.99           SPR-XERBALL/15LB         15LB XERBALL MED-15R         87.98         58.75           SPR-XERBALL/25LB         25LB XERBALL MED-25         107.98         79.99           TRX-STRAPS/CLUB4         COMMERCIAL TRX TRXCLUB4         209.95         160.00           TUFF-PXLS-7925         6'X8' OLY PLATFORM FOR 7930 & 7950         1999.00         1,625.00           STEP-C/B         COMM.STEP/BLK.RISERS/B-PLAT/B         144.99         93.75          * kits comprised of *         **-         **         **           STEP-PLATFORM/B         STEP PLATFORM GREY 1107         **         **           STEP-RISERS/B         RISER FOR PLATFORM BLACK 1109         **         **           OPTI-65         BALL- 65 CM RED XERCISE BALL SXBP65R         32.55         20.00           DEL-INST         ALL FREIGHT/DELIVERY/INSTALLATION INC         .00         .00           COLORS         NY STATE CONTRACT PRICING         .00         .00           STAIRS         NO STAIRS         .00           TIME         DISPATCH TO ASSIGN TIME WINDOW         .00           CROSS STREET         indicate	SPR-XERBALL/4LB         4LB XERBALL MED-4R         36.98         24.99         2           SPR-XERBALL/8LB         8LB XERBALL MED-8R         57.98         39.99         2           SPR-XERBALL/15LB         15LB XERBALL MED-15R         87.98         58.75         2           SPR-XERBALL/25LB         25LB XERBALL MED-25         107.98         79.99         2           TRX-STRAPS/CLUB4         COMMERCIAL TRX TRXCLUB4         209.95         160.00         1           TUFF-PXLS-7925         6'X8' OLY PLATFORM FOR 7930 & 7950         1999.00         1,625.00         2           STEP-C/B         COMM.STEP/BLK.RISERS/B-PLAT/B         144.99         93.75         2           STEP-PLATFORM/B         STEP PLATFORM GREY 1107         2         2           STEP-RISERS/B         RISER FOR PLATFORM BLACK 1109         8           OPTI-65         BALL- 65 CM RED XERCISE BALL SXBP65R         32.55         20.00         2           DEL-INST         ALL FREIGHT/DELIVERY/INSTALLATION INC         .00         1           COLORS         NIGHSTORM BLACK FRAME/ROYAL BLUE PADS         .00         1           NY STATE CONTRACT #PC65497         .00         1           STAIRS         NO STAIRS         .00         1           TIME

Page 5 of 6 Gym Source USA LLC Quote # 1945301

GYM SOURCE FLORIDA SERVICE

4200 N 29TH AVE HOLLYWOOD FL 33020

Phone: 9549202885 FAX: 9549202860





QUOTE:	1945301

 Salesperson
 Store
 Quote Dt
 ACCOUNT ID
 CUSTOMER NAME

 Jason Mattson
 020
 04/13/2017
 20-501973
 CITY OF DORAL POLICE DEPT

Bill To
CITY OF DORAL POLICE DEPT
6100 NE 99TH AVE
DORAL FL 33178

Ship To

04/18/2017 Page 6 of 6

CITY OF DORAL POLICE DEPT

6100 NE 99TH AVE

DORAL FL 33178

LN	Product	Description	List	Price	Qty	Total
	5	COMPUTER OK & CALIBRATED			1	
	6	COMPONENTS PROPERLY ALIGNED			1	
	7	EQUIPMENT IS SITTING LEVEL			1	
	8	EQUIP.IN POSITION DESIGNATED			1	
	9	TESTED & TRIED EQUIPMENT			1	
	10	PREMISES FREE OF ANY DAMAGE			1	
	11	EQUIPMENT IS WIPED CLEAN			1	
	12	OWNER'S MANUAL PROVIDED			1	
					1	
		ITEMS ABOVE ARE SPECIAL ORDER & NON-CANCELLABLE				
		I ACCEPT THE NON-CANCELLATION POLICY ABOVE & ORDER AS NOTED				
		Signature:				
		Print Name:				
65		LEAD TIME 5-7 WEEKS				
66	TRU-HIT-A- CON/TS16	TRANSCEND 16" ALPINE CTCH15-MGT-N	3200.00	.00	1	.00
QU	OTE IS VALID FOR 30 DAYS	Subtotal	149,466.61		1	14,606.06
,	FOTAL SAVINGS = \$34860.55 !!	TOTAL	149,466.61		1	14,606.06

GYM SOURCE RESERVES THE RIGHT TO ASSESS A 3% PROCESSING FEE FOR PAYMENTS MADE BY CREDIT CARD IN EXCESS OF \$15,000

Page 6 of 6 Gym Source USA LLC Quote # 1945301

GYM SOURCE FLORIDA SERVICE 4200 N 29TH AVE HOLLYWOOD FL 33020

Phone: 9549202885 FAX: 9549202860